Chapter 12 (p.377) #44,45
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  The weight of the boom is 1200N (not 1 200N!).

44.
Force Equations: 
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Torque Equation (w.r.t. the hinge): 
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Solving the torque equation for T… 
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(Are you in degree 
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Now ‘plug’ back into the force equations…   
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45. [image: image9.jpg]


  This ‘physics’ beam has no (I mean negligible!) mass. 
Answer (like an AP problem) ‘in terms of the givens: 
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Force Equations:
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Torque Equation (wrt hinge point):   
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Okay, we still have to solve for ‘T’ and substitute back into equations (1) and (2)
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 now plug into…
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